n — | 4 4 4 % % Nog
™ sap=m - |
™ sef=maac k- | ¢ s

ki B sk -
%) -1+ 1= L

Rl

1503 —8

150 | 1603 =8| MRk
200 |Sai—8

gle|e|s|e|a|s |||
g

g

Saffi=#

2
E

Sa=H | MERk

o

‘!—ﬂ&m

Sal=H | WAk

B

2
g

So—E| MWEFk

LR SniHE | MRk

]

wow
W=

1
]

—
L

i B R A Rk

izl

el | B ok

B |B|8|8|8 8|8 8|8

0 0PEoRED 6 6 66 PeoeroBBBE
2
E

oW OB W OGE B
# oA R %
R A M - R
B WO w0
i i ko 5 10 5
i T AR
H K B B K M
b R a0 IR
L i -
wOEEF A W K
i #7 Hb B 58 % 3
4 b X8R R
LR R
HR B EE R X
B oh E OB oz #

-20-



=| _
— < g
A o ¥
() -
n/r |
| |
n
1 L o)
£7Z)
N |
() —V k-
n - £
O

&) — <
1
- $J||ETM=IA9
—v k- A-||
# — Vs
3 - Y5
| # - %
— — 2/ TM= A-"
L LA
A

_ AL .||\/|=
— L
—bL_
—bL_
N
-—N9_|'5| / — _
f— A

#
Ya

A

HEFIL, BARIEARTOGBA NI OEBIC TTREESL),

100 0

-21 -

Wi
rCongz, FRBASORBERBT T, FRABER 1/2.500 OHHEY (SRS EEELT

HELESOTHS, CEL, HERG, HHHEZROHESNSEIEULESOTHS. BFEEN
ERT. mw:g;g:smnacﬂs. RE1TESH128)

rC o, DRBVEZTT, FAEBER
DTHD. (RPES) 17BOEZE 1723

AW

5 i e X
(568 B R i)

ML EE
VA e

R
[[COx-nencrsns
[Cl#-nesmunsmes

3 [z-nenmasnmes

2500 01 OHBEEEBUTHRULES




—_—_————— e e — 4y

1 - %1 -
b= 1- - o - L af=ss<
AV E 25 201 ° s o < ™ee
- - - e=mw= a5 L LfL_cps
L= emm= - o — | -
(n 7 r /T AL 3V L_ AL mg 9
(2 L oy k- L tmg o
(3) | L Sy k- Lwes
(4) /r | AL 50 —
AV E=- 2 /- — %50 ©>2i
~Nef =| / — —  %075¢. : s =L o
RS L A A I B
338 - -~
b= 43 100 20 1 —
- s-= o :

- %Ng V 8 4 o< ™eds =
b= - % 1 - v
Loay % 4 - Nef < % | - -
1 - % 3 - Nef| < 9| - -

- ~H - % ™= | 8 1 - [
v = - - L A <s%z%]e
(D 7 r vV < es= | Lopqr—s
» L4 /= - - s - Loy
Loqe 3 ~%™= 9° — %250 ©D
(2) V] =e-=/ | Lopqr—s
©D )i —L_
(3) V] se=/ ¢ | Lo qr—i
©d )i — L
(4 /= k- a o ¢
— L
)
Ll— = e=T= Qg | 2 Lo
- £ 4 owk oo
# Y |k

— 23 M=
L AL
&Tmeg
M

-

E
— 24 T™M=
= ™M=
™= - ™9
A-I|l<%$%-”
1° F
Y

L
1° #
1° #
- %30

%150

%150

©DJi

—_—_———— e — a1



S| — An>— L= 4 N> —
Loves o A afish ses L] & oqan
L LA A T
— —_ - % — R =|L ‘"ls%;?B:'AQ
J ¢| =| J %

= a

-23-



—<%d<of=™3A L —e L

n

n non non — | s - %1
— n g — 25 ™=
s-= 1M -3 | _—

L <oy - - 1= 0 - 4 Nef oq— - Yer ™—

R Vg Lzod == AMis<se /7 — # non

=~ ™= LN & o= M™My%a Ag<of =™ 1 <%l ) -

{ = L Al<<o — e iy

L= v, £2A°

24
3n2n 6 36m
3n 4n 26 16m
3n 5n 12 4 12m
341l q 16m
3 40 30 12m

—qLzod RfiRh™ e

=24 -



